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solubl 2 ,
e salt, MX, is added to water in a beaker. The equation for this\dlssoluhon is:

MDXa(s) > M¥(ag) + 2X(ag); AH > 05 ““%‘Mo# oMt C

Immedi .
ediately after the salt dissolve, the solution is (circle one) WARMER

b.  While the salt dissolves, the flow of heakis (circle one) IN &of the beaker.

@ Predict the sign of AS® for this reaction. Explain
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Predict the sign of AG®. Explain. 5
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2. Ammonia burns in the presence of a copper catalyst to form nitrogen gas.

NHs(g) + 02(g) > Na(g) + 6H20(g): AH=-140k]
What is the enthalpy change when 4818 NH3 burn?
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3. When236 g Cath_ is dissolved in water in a constant-pressure calorxmeter,-lhe
Jlemperature changed from 25.00°C to 21.56°C. The heat capacity of the solution and

' the calorimeter is 1258 1"c NT
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4.  Ammonia will burn in the presence of a platinum catalyst to form nitric oxide 835 _)p .3 “)
ANH3() +502(g) > 4NO(g) + 6H20(g); '
Calculate the enthalpy change using the following data:
2Ha(g) 4 02(3) > 2H20(); AH® = 4837 k]
2 Na(g) + 8Ha(g) —)?w(g); AH°=-91.8k] X2
N2(g) +202(g) 9“9&(8); AH"=180.6K] * y 2. -
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5 Given the balanced reaction -
2A(g) + B(g) -23C(g)
AH¢ (k)/mol) 5¢ (JK)
A(g) 191 244
B(g) 708 300.
C(g) -197 164

a. Find AH® for lhe eaction.
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b. Find AS® for the reactlon sl ‘E %2 %] 7L “j}l

e Using your answer to parts aand b find AG® = KUq)L 3% = -—Z:{(DS/V- i
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d. What does the value of AG® mean?
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7. Balance the following reaction in acidic conditions:
MnO4(ag) + SO2(aq) = S04%7(s) + Mn?*(aq)
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8. You are given an electrochy

Zn?*! solution.

Standard reduction potentiais: &
Zn?*(aq) +2 & > Zn(s) End® =-0.76 v M0y o) v 50, (6q) +QR0( )
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a. What is Eca® for the spontaneous reaction.
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